strykeı

QUOTE 1

lucas 2024

Quote Number

Version:

Prepared For:

VILLAGE OF ROMEOVILLE

Attn:

Rep:

Christine Rogers

Email:

christine.rogers@stryker.com

Phone Number:

Quote Date:

10/07/2024

Expiration Date:

01/06/2025

Delivery Add	dress	Sold To - Shipping		Bill To Acco	unt
Name:	VILLAGE OF ROMEOVILLE	Name:	VILLAGE OF ROMEOVILLE	Name:	VILLAGE OF ROMEOVILLE
Account #:	20057134	Account #:	20057134	Account #:	20057134
Address:	18 MONTROSE DR	Address:	18 MONTROSE DR	Address:	The state of the s
Commission and Admirals in Control of the Control o	ROMEOVILLE	mentana saarana nara arandenaga asara - yamishi di safishi iliki hari mari da ili ili ili	ROMEOVILLE	and it would be to a summer belief our supports from the in the form of the	mit mit vill villet i 1990
	Illinois 60446-1370	Annual I and the state of the s	Illinois 60446-1370	2 American deposition reposition from 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	And the second section of the second section of the second section of the second section of the second section section (second section

Equipment Products:

#	Product	Description	Qty Sel	l Price Tota	d
1.0	99576-000063	LUCAS 3, v3.1 Chest Compression System, Includes Hard Shell Case, Slim Back Plate, (2) Patient Straps, (1) Stabilization Strap, (2) Suction Cups, (1) Rechargeable Battery and Instructions for use With Each Device	4	\$18,413.80	\$73,655.20
2.0	11576-000060	LUCAS Desk-Top Battery Charger	4	\$1,088.50	\$4,354.00
3.0	11576-000071	LUCAS External Power Supply	4	\$344.40	\$1,377.60
4.0	11576-000080	LUCAS 3 Battery - Dark Grey - Rechargeable LiPo	4	\$647.50	\$2,590.00
5.0	11576-000046	LUCAS Disposable Suction Cup (3 pack)	4	\$130.20	\$520.80
·) ya dani dani (1		Equipment 7	Total:	\$82,497.60

Trade In Credit:

Product	Description	Qty (Credit Ea. Total	Credit
TR-ZAP-LUC3	TRADE-IN-ZOLL AUTOPULSE TOWARDS PURCHASE OF LUCAS 3.1	4	-\$3,000.00	-\$12,000.00

lucas 2024

Quote Number:

10859376

Version:

Prepared For:

VILLAGE OF ROMEOVILLE

Attn:

Rep:

Christine Rogers

Email:

christine.rogers@stryker.com

Phone Number:

Quote Date:

10/07/2024

Expiration Date:

01/06/2025

Price Totals:

Estimated Sales Tax (0.000%): \$0.00 Freight/Shipping: \$1,635.13 Grand Total: \$71,772.00

Prices: In effect for 30 days

Terms: Net 30 Days

Deal Consummation: This is a quote and not a commitment. This quote is subject to final credit, pricing, and documentation approval. Legal documentation must be signed before your equipment can be delivered. Documentation will be provided upon completion of our review process and your selection of a payment schedule. Confidentiality Notice: Recipient will not disclose to any third party the terms of this quote or any other information, including any pricing or discounts, offered to be provided by Stryker to Recipient in connection with this quote, without Stryker's prior written approval, except as may be requested by law or by lawful order of any applicable government agency. A copy of Stryker Medical's terms and conditions can be found at https:// techweb.stryker.com/Terms Conditions/index.html,

QUOTE 2



(https://www.aedstoday (https://www.aedstoday

Home (/) | Shopping Cart product-items

Shopping Cart

Proceed To Checkout (Checkout.Asp?Step=1)		
ITEMS PRICE QTY TOTAL		
(https://www.aedstoday.com/LUCAS-Chest-Compre	ion-System-31_p_359.html) LUCAS Chest Compression System 3.1	
(https://www.aedstoday.com/LUCAS-Chest-C	mpression-System-31_p_359.html) View/Hide options × Delete \$22,00	3.00
4 Update		
\$88,012.00		
	Subtotal (4 items):	\$88,012.00
	Subtotal (4 items):	\$88,012.00
	Subtotal (4 items):	\$88,012.00
Order Summary	Subtotal (4 items):	\$88,012.00
Subtotal	\$88,012.00	\$88,012.00
Subtotal FOTAL		\$88,012.0C
Subtotal FOTAL Proceed To Checkout (Checkout.Asp?Step=1)	\$88,012.00	\$88,012.0C
Subtotal FOTAL	\$88,012.00	\$88,012.0C
Subtotal TOTAL Proceed To Checkout (Checkout.Asp?Step=1) Or checkout with:	\$88,012.00	\$88,012.00
Subtotal FOTAL Proceed To Checkout (Checkout.Asp?Step=1) Or checkout with: Apply Coupon	\$88,012.00	\$88,012.00
Subtotal TOTAL Proceed To Checkout (Checkout.Asp?Step=1) Or checkout with:	\$88,012.00	\$88,012.00
Apply Coupon f you have a promotion code enter it here.	\$88,012.00	\$88,012.00
Subtotal FOTAL Proceed To Checkout (Checkout.Asp?Step=1) Or checkout with: Apply Coupon	\$88,012.00	\$88,012.00
Apply Coupon f you have a promotion code enter it here.	\$88,012.00	\$88,012.00











(https://medicalproductssupply.com/department.html/)



QUOTE 3

Price

Enter keywords to search...

Q

Shopping Cart

LUCAS 3 Chest Compression System \$34,704.00 (https://medicalproductssupply.com/lucas-

3-1-chest-compression-system.html)

Qty

\$138,816.00

Subtotal



item

(https://medicalproductssupply.com/lucas-3-1-chest-compression-system.html)

(https://medicalproductssupply.com/checkout/cart/configure/id/226797/product_id/153317/)

Shipping)

Update Shopping Cart

Order

\$138,825.99

Total

Apply Discount Code >

Proceed to Checkout

Check Out with Multiple Addresses (https://medicalproductssupply.com/

Disclaimer: No part of this site constitute medical advice or nor it replaces any advice provided by healthcare adviser. We urge buyer to take advice from the designated healthcare adviser about usage of any product here or if it is suitable for the buyer. This site takes no responsibility of the consequences arising out of the usage of any product from this site. By buying products from this site, buyer agree that buyer has the knowledge of the usage of the product. All warranties implied or explicitly mentioned here are responsibility of the manufacturer of the product. We are not able to accept any insurance or Medicaid or Medical for any purchase. Our apologies for that inconvenience.

ARNING: There are products on this website which can expose you to chemicals known to the State of California to cause cancer and birth defects or other reproductive harm. For more information go to www.p65warnings.ca.gov (www.p65warnings.ca.gov).